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BaCO, + CO, + H,0 ==Ba( HCO,) , NaAlO, + HCl + H,0 ==AI( OH) , | + NaCl

Al( OH) , +3HCl ==AICl, +3H, 0

A
Ba( HCO,) , ==BaC0, + €O, 1 +H,0
BaCO, +2HCl BaCl, + CO, T +H,0 AICl, +3NaOH ===Al( OH) i +3NaCl
SOZ SOZ NaOH HCl Al( OH) 3 + NdOH NdAlOz +2H20
3.Ca( OH), NaOH NaOH HCl  HCl
7. 7ZnCl,
50, 50,

NaOH ;

NaOH
NaOH

Ca( OH) , + S0, ==CaS0, | +H,0 _
CaSO, + S0, + H,0 ==Ca( HSO,) , ’
Ca( HSO,) , +2NaOH =—— :
CaSO, | +Na,SO, +2H,0
CaS0, +2HCl ==CaCl, +S0, T +H,0

: NaCl
Na,S0, +2HCl ==2NaCl + S0, 1 +H,0 Na, Zn( OH), | +2Na
S0, S0, NaOH HCI Zn( OH) 5 +2HCI —ZHC12 +2H20

4. Ba( OH) , 8 NeZn0 HCI HCl  NaOH NaOH
. INa, Zn
S0, S0, e

NaOH

ZnCl, +2NaOH
Zn( OH) , +2NaOH

—7n( OH) , | +2NaCl
——Na,Zn0, +2H,0

NaOH NaOH

Ba( OH) , + SO, ==BaS0, | +H,0
BaSO, + S0, + H,0 =—=Ba( HSO,) ,
Ba( HSO,) , +2NaOH =—=

BaSO, | + Na,SO, +2H,0
BaSO, +2HCl==BaCl, + S0, T +H,0
Na, S0, +2HCl ==2NaCl +S0, T +H,0
NaOH  NaOH HCl HCl 9. AgNO2

Na,
Zn( OH) , +2HCI

7n( OH) , | +2NaCl
——/nCl, +2H,0
ZnCl, + 2NaOH ==Zn( OH) , | +2NaCl

Zn( OH) , + 2NaOH ==Na,Zn0, +2H,0
NH, * H,0 NH, * H,0 HCl

5. AlCl,
NaOH
NaOH

AgNO, + NH, * H,0 =——=AgOH | + NH,NO,

AgOH + 2NH, * H,0 == Ag( NH,) ,0H +
2H,0

Ag( NH,) ,OH +3HCl —

AICI, +3NaOH =—=AI( OH) , | +3NaCl
Al( OH) , + NaOH ==NaAl0, +2H,0
NaAlO, + HCl + H,0 ==AI( OH) , | + NaCl

AgCl | +2NH,Cl+H,0

Al( OH) , +3HCl =—
HCl  HCl
HCI  HCl  NaOH NaOH 10. Fe( OH) , —_— —

6. NaAlO,

NaOH NaOH

Fe( OH) , + 3HCl =—=FeCl, +3H,0
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